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Q. Nos. 6 to 10 ; Stud y

y the following table
and answer the questions based on it,

LR LR e e s (T w3 )y
Expenditures of » Company (in Lakh Rupees) per
annum over the given years

‘—__-___—-__
Y F T / Item of Expenditure
Ty A q EET
Year| Y/ | wiwem/ |9/ | ;| =y
Salary | Fyel ang | Bonus Interest |Taxes
: Transport on Loans
2011 300 100 2 13.4 85
2012 | 340 112 1.52 22.5 110
2013| 524 105 284 31.6 75
2014 | 340 135 2.68 264 78
2015| 450 152 2.96 39.4 88
6. 2011 & 57 =t 7 W Bt =, 2015
T Y B T T wlerra o 2

Total expenditure on all these items in

2011 was approximately what percent of
the total expenditure in 2015 2

(A) 7033% @By 75.75%
(©). 6833% (D) 72.67%

(A) T 586.02 %M (9)/ % 582.08 /@
(C) T5004«mg (D) X 73844 1@

What is the total expenditure of the -

company over these items during the
year 2013 ? t

(A). X 586.02 Lakhs (B) T 582.08 Lakhs
(C) T 500.4 Lakhs (D) ¥ 738.44 Lakhs
T a9 ¥ R i W e o i mh
91 % A S 3 whEe w A =G H
T ITIITE SHA: T R

The ratio between the total expenditure on
Taxes for all the years and the tota] |
expenditure on Fuel and Transport for all the

years respectively is approximately
(A) 109:151

(C) 4:7 AD) 15:18
T H. 1R 15 : T w0 3w R uig
Tl 3R 10 At o6 fore R wwdi | i =y

Qéaﬂxnﬁ%mwm@mé | (PR =% 2R
T (WS T % ) hl o 3 o @ e 1)

:

) - Q. Nos. 11 to 15 : A person bought five cars in a
7. w8 m%ammﬁaﬁwﬁraﬁmﬁ day and put on rent for 10 days. Read the table -
ﬁmnﬁrﬁmﬁw:ﬁqg& ? and answer the questions carefully. (Standing -
(A) % 26.66 T (B) 2 30.12 =g time for car is noli t:_iken as conmde:;hﬁo;._)a;m
(?h t?' 2?1‘142 . 28t.82f_(;'mt§ est g %@Tﬁﬁﬁﬁﬁ
‘What'1s the average amount of inter ) e
: - R H AR TN A a5 /
per year which the company had to pay / Mileage of |31& T /| Total time taken |
during this period ? "' Car Average [to cover the total
(A) % 26.66 lakhs (B) < 30.12 lakhs amount of |distance which is
(C) R 22421akhs (D) T 28.82 lakhs diesel used covelr[;:ill during
; Em 2 a‘:ﬁa’_ﬁq:ﬁ : ) per day ays
8. AMW & T YT 61T Jteet /|25 fr.a /. | 10efX/ | 50 92 / hours
S B ot T, g S e g [ (|7 | # o
R Aa H Ho R w1 wmE Rean | e[ /e /e 10t/ | 5552 /hours
m% 2 . Swift / km/litre litres a% ' T
: fam 0¥ /h
The total amount of bonus paid by the Tis 0’ BO/lelri.tfﬁf 121;13: /_ 5_ ours -
company during the given period is | g e e T sow o
approximately what percent of _total _ Mini | /kl;l Nitre litres .
amount of salary Iﬁi‘g‘?"i’ﬁsg;hls period? 1 e/ [as e /0. | 2092/ | 100987 hours
i a ) . : . li itr L .
g0 on Do | el [PV
P — PERN S
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11. Ruww 10 R ' :ﬂﬁ_m'loﬁﬁﬁﬁﬁﬁng\f

%mﬁ875%.m.§$%m§$ * ;ﬁﬁ,ﬁkaﬁiml?m’ 150‘:5??%%;“3
WWW%&WIO%%WWW 3oodﬁﬁwmaiaWAaﬂ?B§t‘
maaaﬁraﬂm"%%%oﬁ;,zﬁ‘;ﬁw 3Tt if 35 <l 1 3R T HIRr |

; | distances covered by a]] g,
8 v T ifira | chrs 5 16 cays is covered by car A ang I
Find the ratio of the y; car B in 150 hours -and “300 hoy
ini to trave] 875 e taken by cqr respectively, then find the differenc,
speed of it gy \ylth the average - between average speeds of car A and R
the time tak m{ing he given 10 days 1o | - (A) 51f%.H./ava / km/h
ke it theer; ! gfr :;; Swift to trave] 99 (B) 61 f.1. /auwer / km/h o
. s ' : A
the given 10 days. | peed of it during (.66{50 ﬁ;zﬁ/m / km/h -
A) 7:9 (D) 60 fe6.3ft. /arwer / aﬁ% T; |
St ‘ ‘ 15, 10 et & Swm e g1 04
D) 4:47 What was the ratio of the total distance
5 g ) 56:99 CX\)fereiiE;byéI‘iago andBMinigde-mg 10 days ?
' T ' 125 :
W%z?%amam 3R feamit 6 st fC) 9:25 fog 18:5
ST 71 27 7 T . 169 20 : Frr Y smeve 7 svem
What was the: ratio of the average speed | 9 2001 ¥ 2006 T BE TN1 & e TF a4
OfAltoan_dTlago during 10 days ﬁwmﬂwﬁﬁmaﬁaﬁtmw
(A) 11:10 B) 25:36 WWﬁmmél(ﬁZOOO%

(q) 10:11 D) 5:6 garma}ﬁémﬁm' # it gam R aik
3. 32t st s faw 10 R % d g@ﬁﬁﬁﬁwgﬁél),
. Nos. t : i 1
3T 3 ify i qHTH Tﬁﬁ@*@i & graph_which (g)ives thetuliigmt}})l:r fgtl"lct):;lpnl%ylégg

HR AT T w3 | fien % 91, ¥ Uk~ | Who joined the company and left the company

In the beginning of each year during six years,

ED WEIATA foig hr 3R amm w3 § | frqdeg I to 2006, (There is no employed
‘qﬁ s o —qﬁ:ﬁ S * dig # §3°[ 2300 ~t]}r_;;:n;;:atr 2eocooor-r;pany or left the company during

oy

) w e
f;)f .. 3, @t arfear 3R e gr T -gm e R Do e ———
7 . . = : Initial strength of Employees in 2000 = 5000
M ﬁfﬁaﬁ%aﬁ.mﬁmw@ﬁaﬁ £ 2 s oo
(a1t e 7 37w 14 i | £ < 600—Ss00—._600 600 D
. Wm" \ . i B - - s, 650
‘)/\.eo 2 (A) 22 (B) FHY EQH &l A= 400"“;‘)0““"'“""550“""‘“95""‘”‘““-‘00‘ ;
‘ . T 200
é{»f’ C) Jlzwe D) ova g
T~ Alto and Kwid is travelling towards each 20T 20022003 2004 2005 2006
~ other thh speed same as their average — it § o @R A Wg,%}’:gm
o _Speed dunng the given 10 days. After Number of employees who joined company
meeting, they travel to each other’s = WA G w4 wem
Number of employees who left company

starting point. If initially distance between . . - -
Yoth cars is 2300 km, then find difference | 16. 2003 % QR 1 & Rl FaiE
S

. ., of time taken by Alto and Kwid to reach eyt . i
* " “their destination after meeting each other. T}‘]he number dof ,em g)%%ees working in
o) 22 hours None of these the-company during TS i W
T R
ey 2 hours. C) 5000 D) 5300 &
Q‘gj?’ | 657
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17. 2003 3 <hoelt 3 s oY oot et oy

18.

4

HEAT, 2006 8 FHR 3 69 HC T bt
DY T 1 T Reer e o 7

The number of employees working in the
company in 2003 was approxXimately what
percent .of the number of employees
working in the company in 2006 ?

(A) 96.15%  (B) 97.35%

©) 93.75% /(D) 98% .

Q7% arafy 6 e Rl o 9 W e §
Wi TR aret FreniEt 6 =g den
H1 69 Ble It H=TE! B 3rfrman
&A1 | 39T fepar R ?

The ratio of the least number of
employees who joined the company to
the maximum number of employees who

left company in any of the years during
the given period is

(A) 14/13 (B) 9/13
(C) 9/17 (D) 12/17
Torm 9 7 TUoa 9 <l gor 3 S S

a1l w6 @en #§ ukwew gty /
+t aftepam g 7

For which year, the
in the number of employees who left the

company compared to the previous year
is maximum ?

gAg 2002 gB% 2004
C) 2001 D) 2003
2002 ¥ 2003 9% HHAANE <h! T&T |

S feha wiera <61 gfig /@i 68 2

The strength of employees increased /
decreased from 2002 to 2003 by
approximately what percent ?

A) 2% (B) 4% (C) 1% (D) 3%

T G, 21 Y 25 : TS ORI T T Bt 3N
39 QT ITTG W91 % IS |
Q. Nos. 21 to 25 : Study the bar graph and

answer the questions based on it.

ercentage rise/fall ;

FareA (g #)

Production (in Lakhs)

farma =t 7 et g faemy w gwrea (e H)

roduction of Toys by company (in Lakhs) over the years

. -]
22388,

21,

22.

23.

24,

25.

-_F'_:

2011 & g 3 2018 H RaeliAl 6 IGT
H wm wieera gfig fercrt o 2
What was the approximate percentage

increase in production of toys in 2018
compared to that in 201Y?

(A) 137.5%  (BY 111.11%
(C) 183.33% (D) 128.35%

froe a8 & qeEn § e ad Sae #
gftrer af T s o 7
In which year the percentage increase in

production was maximum as compared
to the previous year ?

(A) 2013 (B) 2017
(C) 2012 (D) 2015

fo T fopet st 3 Raetet 1 SR T
T G o 3G Icqred | fees o 7
In how many of the given years was the

production of toys more than the average
production of the given years ?

(A) 2 (B) 4
€ 1 (D) 3

2013 A 2014 7% Raei ¥ ey i
T giawrd froae fopae oft 2

What was the approximate percentage

decline in the production of toys from
2013 t0 2014 ?

(A) 15%  (B) 25%

©) 10% (D) 20%

2015 3t 2016 <1 3fd I
fr=fafea & & forg ani & 3w & ofiwa
IcUTEH < ToreTehed ST T 7

(A) 2014 3R 2015(B) 2014 37k 2016
(C) 201632017 (D) 2012 3K 2017

The average production of 2015 and
2016 was exactly equal to the average
production of which. of the following
pair of years ? g

(A) 2014 and 2015(B) 2014 and 2016

(C) 2016and 2017 (D) 2012 and 2017, .
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(7726, TmfaRas § g mﬁ: : . W
‘éapnqﬁqﬁaai.?ag Rmw am | 30, o e e % ORH, FEfifey %
e ¢ e 3 Tty
B) T ey | | %a?ﬁgfawﬁlﬂﬁa?m§
(C) W gy I : TSt T ? '
D) w5 : | (A) dfear W
Who a.mOIlg the fOllOW]n (B sﬁﬁaﬁgqﬁ
Whose name was 5 € 1s the person C) FaeTCd wgMTEAT™
Piyadassi ¢ 9 %0 “Devanampiya ) A=A
(A) Mauryan Emperor Chandrae:r g))- BT . | :
(B) Lord M ahavir ragupta uring the Dandll Salt .March_, which
(©) Mauryan Em among the following social activist haq
(D)  Gautam Bud Toror Ashoka persuaded Gandhiji not to restrict the
,2 ) ' >uddha protests to men alone ?
o 2T SR W e wgy (Rt an g (A) Pandita Ramabai
IR H) e @y ! (B) None of these :
H_ Fumwmd
aﬁﬁ?’ﬁ?ﬁ'&rgm | . -(C)  Kamaladevi Chattopadhyay
(A)  ar , . (D) Madam Cama '
P g BN B) T HE 7 4
O e (D) st 31 v d e S <y
, : AT g8, 99 WG
The pietra dura or col . T Y e %
work on marble becz?nc;ured stone 1nla}y mﬁmw oar e ﬁ[gl
the days o v poplarin | %) THEE @) g 2
(A) Akbar (B) None of th ¥ ©) - ()" 9T wEe
Y of these When the East' India C
(C) Shahjahan (D) A : ndia Company was
. urangzeb , established, India was ruled by whom
28, f=afaRea §a fg T F A1 1 7wl A among the following ?
9T BT Ty o ? : (A) A Gupta Emperor
' ' ' B) AS
JA) AEHTSITY (B)  aw g EC; AN Egpemr
- (O TN (D) gemwmET D) AMaghid By
; - In which of the following age copper : ‘ Hehal .Emperor_ :
T was first used ? E 32. YQE-TMEH %ﬂ,’—im Frfafaa 4 @
~ (A) Mesolithic Age - rudgmyEfemmmery
, Eg; IélﬁollithlichAge _ (A) ERIEIRIC) -
: alcolithic Age ' B) 3= HUTH!
(D) Paleolithic Age o B d
enge y (C) W, it
29, Prefafem # @ fFe wm w owm d@g D) AT AT
. wftfa <1 ITaeE e T e 2 The Bhoodan-Gramdan movement had
(A SR ®y q‘l‘c'ﬁ"lgsl been started by whom among the
L (C) T (D) TR - following ? .
The first Buddhist Council was held at | {A) Vinoba Bhave
w;uch among the following pl_aces ? (B) Acharya Kripalanij
(C) Kashmir 3B) Pat_al.lputra (C) M. K. Gandhi
- (©) Gaya (D) Rajgir (D) Jayaprakash Narayap
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36, TRefta rrer e it T (GMT)
«A) ST ST U | @) 2@ M “a7.
myg ISR TS By
"E%E © gy aﬁiﬁﬂ (C) 792 (D) 5_;_ o
- (D) wra g Indian Standard Time is ahead of
EJ)Vho gave the famous battle cry ‘Chalo Greenwich Mean Time (GMT) by
illi’ 2 . - —
(A) Lala Lajpat Rai ‘(A) 4 hours B) 3E hours
(B) Chandra Shekhar Azad AT} 7 hiouss 5 5.1 B
(C) - Subhash Chandra Bose =, . 2
: - 37. Fafafaa % @ =95 SHEEN T =y
(D) Bhagat Singh .
34. TEER H ygelt Wy stfifs frafifiag ST T ST S e e 2 7
33 - (A) W& (B) 9w <l Iqeyay
fora whifar % wmer g€ 2
. (D) sfrfiswm
(A) ﬁ_lgj”iﬁ; 4 iy Which .of the following is not the
/@3) I shify econ(l)m_ic ;’_actc_); for Qinﬂuencing the
© s P dsbuloar. ;.
D) wHwmify (B)  Availability of water
‘The first clear expression of nationalism & Egg ?gtli?lesi?ilzlisation' s
came with which among the following . : :
revolutions ? 38. fova # wed =R S AEe TR -
(A) The Industrial Revolution : ﬁ?eéﬂﬂ R | .
B) The French Revolutio (A) WTd 3T (B) ':ﬁﬁ‘éaﬁiﬂﬁ
®) " IR (D) et 3i frsa
(€)  The American Revolution Cfl\(;cj)un:qgerest - Ithe(lli)it)ghc:st peak in the
(D) The Russian Revolution world is located between |
: ; - ‘ A) India & Nepal None of these
35. W % frefefea § 3 fr stfufem 3 Eo% India & Bhutan 833 Nepal & Tibet |
_.maaéaféa.mﬂﬁﬁmgm?. 39. Feritaa 3 & s # “sverean 6w
_-@) IR T rfifem, 1947 TETHRTFTE 7
(B) ¥Ra w&hn srffem, 1935 ) I T T 3 et 3ot 3 s e d
(©) 9 A o (B) T 3R g Ham | |
(D) frwfem - , (C)  T=1 T & g1 ¥ AT
Which among the following Acts of the - (D) = amgan T
Government led to the creation of the Which among the following is the main
Sind Province from Bombay ? reason for “October heat”_ in India ? .
(A) In-dia.n Independence Act, 1947 (4) _ 1%121 ﬁspirxfsiit(liriz Spalen 1‘n Gangetic
('B) Government of India Act, 1935 (B) Hot and driz we'at'he: |
(© Wavell Plan (C) High temperature associated with
D) Cr . = ' ‘high humidity o
(D) Cripps MISSI(?H _ (D) Low velocity winds
7
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41.

el ¥ Frerer sefsrren 3 e |

it 8, srferssin fafEt_  om

4 geifera gt € |

@) fudes B g s
(C) wEfs (D) T

‘At the initial stages of any developing
economy, the majority of activities
belong to the _sector.

(A) Seécondary

(B) Information Technology

(C) Primary " 3

(D) Tertiary

frafafgs § @ ®H @1 8la

wrHifd  fem o ?
(A) TEE Ie A digebrE

hifd <hl

- (B) TR

42,

43.

P
z % i}

(A)

(C) 3= 3ot & et fopwi <
(D) =g |

Which- among the following was a part

of the green revolution strategy ?

(A) Chemical fertilizers and pesticides
(B). All of these

(C) High yielding variety seeds

(D) Irrigation '

Brafafaa § § frg 78 =) fgr = e’
| RIS ? '

A) THR 4B H

(C) ¥l (D) ¥EU

Which of the following rivers is known
~ as the ‘Sorrow of Bihar’ ?

(A) Damodar (B) Kosi

(C) Hooghly- (D) Ghaghara

R ) et e st Wi
feffaa A A frapgu Qe 7
&9 v % gl

®) FammeE
(€ fmafE
(D) T forra aitee |
The final approval to the five year plans
of India was given by whom among the
following'? .. * g, o '
Vice-President of India .-
Ministry of Finance =

g (B) Mi
. (©) Finance:Secretary

National Dcvelopment Council

44.

45.

46.

(C) Tgdd
In the Union Execut
among following is no
The Vice-President

t included ?

(A) v
(B) The Chief Minister of States

(C) The President

(D) The Prime Minister

Frferfa § & HI T TSI 6 T
g7 | |
w/ i I e

® foet *»

(C) Wdg we &

(D) TS, .3 .G, ¥

Which of the following is not a
Commercial Bank ? - _

(A) HSBC
(B) SIDBI

(C) State Bank of India

(D) ICICI Bank

Prferfin & & w1 AR 4
IYFA TEE F 8 TH RN HHF TG
Fp g e e e

() FmE s B) FHaFE R
(C) dutfis frm (DY @

Which one of the following public secto”
undertaking is established by passing 2
special law under Parliament ?

(A) Departmental Undertaking
(B) None of these -

(C) Statutory Corporation

(D) Sole Proprietorship

1% -
R S
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47, Frfufga § @ R0 Rl $3 wfwm | 51 =phfen a3 Prefihe 4 @ R

yﬁrﬁga | W ST R TR ST & ?-
(a) wEre AR @) AT | 9(’;‘) g‘;@ ®) T
; gt (©) . D) FF
©) (D.) Pneumonia affects which of th
; _ - the following has the right followi . o e
D tm;lgnag High Court in any Union (Z)Ow;(ni patt th‘(’]’; an body
to s€ _ idney Heart
. , - H
;l:;:)rrl tgrglpx"éme Court (B) None of these (C) Lungs (D) Liver
(C) Parliament (D) President 52. ﬁq&aftaaﬁaaaqj?wﬁmqa% g 5
4. 3 4w @ agess *) E il
vty At e T 3 (©) e (D)
TeTHERAR 7 Which among the following 18 not a
“° \hich of the following article is about plant fibre ?
Establishment and constitution  of () Tute (B) Flax
Supreme Court in Indian Cpnstitution % (C) Cotton (D) Nylon
(A) 120 (B) 124 | ' : . -
E&‘é 118 (D) 122 53. aﬁaﬂiﬂﬁmﬁﬁﬁﬁﬁﬁmmﬁ%ﬁ
fi e 3 T Tt IR I TR HATR ? |
FRHIARBE | ol (A) <FE (B) FFAT
/@ gat= iR = A ey 3 A (D) geefiagl
. (B) T AP T The colours of the stars depends upon
A1©) Fee geedi which of the following ? ,,
(D) quﬁ[ ‘o, " (A) Pressure
has/have the power 10 (B) Pollution of the air |
mthe Fundamental RJZght. , (C) Its temperature
(A) The Supreme Court and High Courts | (D) Distance from earth
_ (B) None of these i 'aﬁ'fha;
(C) Members of Parliament 54. g-'-r;%lﬁaﬂ ﬁ%ﬁ?aﬁ? ot | ‘F’i?il'_ S

D) The President . . e
50 ‘:IT{H ﬁ’ -{Tgl'q IZII?IEIIIEIEFII M «M) an%“ Hliililaﬁ ﬁq |
e & e SR 7 ke

sy TE T (B) sﬂ'ﬁﬁﬁs‘q‘a"f © dEEEdE
(c) i oo (D) femEAC (D) TES sl |
India, The National Human Rights Which among the following gases 1S
ICnommis’sion js under which of the responsible for global warming ?
following minist;'yH? e Affairs ' (A) C}ompressed Ngn‘J_ral' Gas
' Ministry 0% ¢ & 7.+ (B) Oxygen R
| Eg; Pone Ofth?s? - © Greenhouse Gas .
. () Defonse e (D) Piped Natural Gas
D) Finance Ministty . _ _
e 9 L ;
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0.05) =4 cot/pzyh (o 0A3) <
) oo&? d—@yc)d)(zf,q—— O‘G@'-(’*p

(B

b | o .

(0.05%+(0.41)2+ (0.073)>

55.

61. Topa fompen H Tl TG TER 2

(0.005)2+ (0.041)% + (0.0073)% (4) Fgroft, s
(A) 10 B) 1000 ‘ :
© 1 @) 100 ® e, e, T
| | . | gra, R, 3A9h
56, 40% =afth TUER-T9 X Ugd & 3R 50% Pt
” oaﬁsw—qﬂqa;qaﬁguo%aﬁﬁ (D)mw, ‘
_&o Hl FATER-97 Yed & | fohae =3t gHi A
‘3 ;90T YIS GAER YT T8l Yed & 7 62. WW'&F@W‘W% ¢
1a7( - 40% persons' read newspaper X and (}})/ I - RUCES
50% persons read newspaper Y. 10% :
persons read both newspapers. How (B) g - A .
many persons do not read any of the NE - g% “
\ﬁ/- news‘papersl? A 117 < () frive = . E]J"}@a
b @) 15% B) 30% pwy=o5h] (D) ebd - GTGU O
w‘* 3@’ C) 25% 20% al®: Sy‘f*}' . A, .2
. ° 63. ‘TTCl JelTd THMT - HERR I3 R :
x 57, @qﬁmﬁwaﬁm%%ﬁt%ﬁmm ! =
| «/Di45%|mamtr&um% » A TSR |
¢ o ‘The average of 5 results is 46 and that of (B) SHgEHETT I
the first four is 45. The fifth result is :
% . B CIN-RCR'CE |
5, 10 iy g F A0 %@Ea; ;G AT |
1 D) 12.5 | (D) I Eﬁmml
29.9)| b} T
AT V29.8116 ++/77.44 = ” 164, TR Wﬁﬂﬁﬂfﬁﬁﬁ%ﬁﬁﬂml 5
BIHET T 29 BIEFH L N 't
LA) 12.62 (B) 14.62 (@) el Xy %
(C) 1226 (D) 14.26 B T wR « kcm ,
59. mﬁﬁmfﬁﬁrﬁﬁ%@aﬁﬁ%ﬁé oy e+ fy
ALt (D) = +=fy
W T @ R -
| © FEs @O e | 6s. %Hﬁwﬁm—gwwanf—ﬁaﬁ
X Plant cell wall is made up of what | T
among the following ? :
32 . Y 3
,._.?.-/-—- (A) . Glucose (B) Fructose W_g‘q smfﬁﬁ o
} (C) Cellulose (D) Sucrose (A) RS -3me g - I

(B) aqaaaaxﬁawmﬁﬁm
©) i %mm
(

- HY
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Read the passage carefully and answe
corresponding questions : (Q. 66 and 673 the

Last week Caroline went on her fir
fishing trip off the coast of Catal?rtlz;1 eIesIl)axifia
She had always enjoyed fishing vohien, Shie Wak
; a child but had never gone fishing in. the
ocean. Her dad liked to fish very often. i

big brother Jack was never the outdoor type,
often. One of his

favourite Spots was Lake Isabella, which was
m their home. She recalls

how she and her dad would spend a long,
leisurely day driving to the lake, and then
taking his small boat cut on the water. It was
quiet and peaceful for the most part. Those
memories remain some of her most cherished
moments of her life. Caroline has 2 friend
called Robert. On this day, Robert invited

Caroline to join him on his company’s fishing
uldn’t cost much but

trip. Robert said it WO
would be a lot of fun. He knew Caroline
fishing and figured she would

‘enjoyed lake
have a great time.
to the ocean they went.
The first thing Caroline noticed, however, was
the motion. «Wow, this boat really rocks”,
Caroline told Robert. “Don’t worry about it.
You will get used to it”, he said. The trip to the
waters off Catalina Island took about an hour.
Caroline marvelled at-how quickly she Jost
sight of the mainland. It was 2 bit scary when
she thought about how alone they were in this

great ocean. Soon, it was time to collect squid
boat stopped in the water

for bait. The small
d the bright light into the

“QOkay”, said. Caroline, and

67.

68.

69.

70.

71.

\th were the squids collected ?
(C) For sell-ing (B) For baiting
(C) Foreating (D) TForcooking

Give one word substitute for —
“THe practice of writin iti

P! g, edit
compiling dictionaries” PR
(A) Lc.:xicography (B)~Psychology
(C) Biography (D) Philology

(D) ==
woman, Nilesh said, “She
my wife’s

© =
Pointing to a
is the only

grandfather’s only child.” How is the
woman related to Nilesh ? e

(A) Wife (B) Daughter VA
(C) Mother (D) Aunt- - é

31ETa 37T &t /Find odd one out :
8,27, 64, 100, 125,216, 343 .
(A)° 100 T (B) 343

© 27 - D) 125 .

| s, 2006 ) AR o1 | 1 S,

2010 =T THTE T <hI &1 g7 &1 7
g i I
© @mm (D) FER I

It was Sunday on Jan. 1, 2006. What was
the day of the week on Jan. 1, 2010 ?

and the crew turne
ocean to aftract the squid. Before long, b
thousands of squid rose to the surface and (A) Friday (B) Tuesday
were collected forfbalit. 1:ﬁj‘.’ter al;(c')ut an hour, (C) Monday (D) Sunday
Caroline didn’t feel 1€ rocking motion ;-7 " W
anymore. They were ready to fish. Caroline 2 (ive Sﬁ’l“onym for the word : “Partial””
caught her first ocean trout. It was 2 beautiful () - Iniact (B) Unbroken

o day. ' : © Incomplete (D Perfect
66. * Was Caroline’s brother an outdoor type ? 73. Choose the correct antonym : “Disappoint”

(A) No Can’t S2Y . Satisfy |, (B)" Meet '

L (o) Yes (D) Not specified (C) Sale (D) Example

v - I 04

: '
: 3 T,
. ’
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74,

. _ 76.
Al & a1g e fbred T E | e AT & STEUE AT A D BT R
1 9 3R TR 7 1 f fog o Freset #§ w21 G 3rwamd foRa 7
& 1 1 Free G w9 @ T ae B #) T B) =M
warg fepu fomr few g wemil w1 afdhe w9 (C) =4 (D) 3SIUsA
'éalﬂmﬂ‘lm%l _ - Which among the following countries
U ot Wﬁ T'TCR T | $9 TR A COIldl.ﬂCted its l.argeSEt-i/er rzl(;lzt;?
% I aﬁgqﬁaaﬁg{% | . exercises around Taiwan in -ugust
sy (A) USA (B) China
P - (C) Russia (D) Israel
I $BvHafeaed ) o y
I 3o ¥deiwd | 77, 30T, 2022 H, WRA ! UEel HSEX
et . ﬁﬁwmﬁmﬁwﬁaﬁﬁmmﬁ
IIL. @mﬁtﬁa% | e T T 7
(A) SaAIl (B) FHABETE (C) FEHE (D) R
(C) Faal (D) had III In August, 2022, India’s first underwater
In the following question statements are rfn;:]mro vas .11}au§mra.ted v SN of th?m
given and these statements are followed by GUOMIHR BIUES - "
conclusions. Read the conclusions and then ,‘(A) Pune (B) Hyderabad EEHE
decide which of the given conclusions & (C) Kolkata (D) Bangalore
~ logically follows the given statements, Tyeferfigd i A
. disregarding commonly known facts. 98, e T ﬁj'nf ﬁ;ﬁ;{q ;Q: ® e
Statements : All the books are papers. (A) RS ' .EﬁT-I
Some papers are journals. Some journals .(C) 1@ . /?)j)
are calendars. ‘ AR el
Conclusions: Which among the following country’s
5 scientists have prepared first synthetlc
L Some journals are books. embryos ?
II.  Some calendars are papers. (A) Israel (B) China
III. ' Some books are journals. (C) USA (D) Canada .
IV. Some books are calendars. 79, wamE T A Y ﬁ:ﬁ%ﬁ@ﬁ 3 3 frg
(A) OnlyII (B) Noneofthese I T § IBX (3fem m W
(C) OnlyI = (D) OnlyIll TS ) o R 7
- - : A) WETTE B) IWW
75. 4y NORMAL % RPNLBM &% 7 A EC; Cal \({) ) T
29T 7 1 &, T.GATHER 1 1e Prime Minister Narendra Modi has
ERW . launched the IIBX (India International -
If NORMAL is coded as RPNLBM, then Bullion Exchange) in which among the
what is thecoc?e for GATHER ? following states ?
(A) TBGRFH (B) TBGREH (A) Maharashtra (B) Uttar Pradesh
(C) TAGRFH (D) TBHRFH (©) Goa (D) Gujarat -
12 .

. |- T,

Freferan o7 3 e Rw o # ok =

Wﬁgmamﬁm 2022 %

AN
ﬁ;@a%ﬂ»
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80. STSITE! ST 1Y HElHd %.98d ‘92 5oy’ 83. fr=fafga # @ =W @ v wra ® waen

I ﬁ’:'ﬁ”@%flﬁﬁﬁmﬁﬁaﬁam O S T TS 9 T R 7
ERIAE AT 7 . @y FE | (B) SOEs
,@6 ﬁ"m Hateld () HE&}W | (C) Tian (D) TEAH
(©) wﬁw(ﬁ T8 HATH ' Which among the following states
‘Badhe Chalo’ campaign under Azadika | l:tea‘iir?; Itrl;l;i‘f;m L \Ghm,’ Jal’ certified
: Amr it Mahotsav his) bty !aunched by (A) Kerala . (B) Uttarakhand
" which among the following Central © Gon o et
Ministry ? | e D) Y
(A) Ministry of Education . 84. Trfafaa § & i Wra w1 IS < T
(B) Ministry of External Affairs 27 .
‘1 Ministry of Culture (A) =ER - (B)/HwEE
(D) Ministry of Home Affairs © =™ ) qug '
' ~ Which among the following 1s not a
81, WRAW™ &A1 A o, 2022 L N neighbouring country of India.‘?
T Ueh STRad YR SqUg §91 3™ ~ (A) Myanmar (B) Maldives
=1 SIS fepam & | (C) China (D) U.A.E.
(a) Fweme @) TR g fofafea # 3 few 0T 3 R
© @R (D) WA L iR @ o ae & e Al4Bharat 3
The Indian Army had conducted a pan- A NEIC - EIRILEIIG g7
India satellite communication exercise - > % 1T ST ' qeTg
named in July, 2022. /g 1T 2 (DB) _ IIII',II: -
. (A) Spacelight (B) None of these , Which ( .) : A il EI‘.
" B Sops ich among the following IIT has
(C) Skylight (D) Moonlight launched the ‘Nilekani - Centre at
' . A Al4Bharat’ to ad ’ :
82. WRa % foh < WU = “Irepran TR technology ? advance Indian language
e ' W o iz _ (A) IT Kanpur  (B) IIT Madras
A) Qﬁﬁﬁgﬁé . | (C) 1T Hyderabad (D) IIT Bombay
. (B) 3TEHGETE § TGS 86. 6 I T Fr sremam § < 5
(©) g e = It gt b ekt S e e a
(D)- HSE & TEHTEIR Tk TE T it ey e 2
First flight of “Akasa .Air* had been | =~ (&) FFaTAE  (B) Eiek i
[=] E] inaugurated between which two cities in Ly P{ﬁtéﬂ:ﬁ (D) ST TR
EWZ India? | | A National - Conference on D
(A) Chennai to Mumbai , Trafficking and National Security was
(B) Ahmedabad to Lucknow held ~ at'  Chandigarh " under th
‘ chairmanship of which Union Minj v
(C) Jabalpur to Delhi . iy 1L Haister ¢
: ) (A) AmitShah - (B) Narendra Modj
(D) .Mumbal to Ahmedabad : (C) Smriti Irani (D) Anu:ag TI
3 = I
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87.

88.

89.

90.

91.

b4

(A) eIk (B) FH @ b T
AC) R (D) e TEe

| “(A) Andhra Pradesh (B)

I BUT | Ue YR S i
I I R | -
(A) 21=§ (B) 309
(C) 18ad APy 2594

is the minimum age for
holding office in the Lok Sabha.
(A) 21 years (B) 30 years

(C) 18 years (D) 25 years
siiga 39 fafee R frg artha
TR ST R 7

(A) 1389 B) 107EsT

© 227§ (D) 15 fegsn
International Day for Biological
Diversity is celebrated on which date ?
(A) 1 April (B) 10 November
(©) 22 May (D) 15 December
fr=teRaa & & = w1 Rve =1 o=@ @
TAEIR ?

(A) WHYUET (B) IS g
(C) #emg| M) dg@
Which among the following is the ¥
largest river island in the world ?
(A) Manpura Island

(B) Majuli Island

(C) Srirangam Island

(D) Lulu Island

it § @ gt Hr ud g R 7

What among the following is the
national currency of Hungary ?

(A) Hungarian Forint '

(B) None of these

(C) Hungarian Naira

(D) Hungarian Pound .

AT % WG HINT % YR \R &1 WA &
AT AN TR |

(A sywq@  (B) W

€) weww (D) = .
Name the first state in India formed after
independence on the basis of language.

92.

93,

94.

95,

freffag § @ fran G TR U
sipgaee foie 7
(A) TERTH  (B) TET A

(0) @l g (D) T

Who among the following wrote famous
book ‘Powers of the Mind’ ?

A) Mahatma Gandhi gt
gB)) Rabindranath Tagore ;_%g -
(C) Swami Vivekananda [ [ii

(D) Gulzar ,
UNFCCC 1 37 feferfaq S @ s g ?

(A TR AMH HSWH B i
FETSHS o

(B) IAT3S AVH HeWH e 3FH
- FATSHE IS

(C) ITEeE AW HHEH HelwE 3
FARH IS |

(D) 15T AN HHAh HISRA HA

UNFCCC stands for what among the -

following ?

(A) United Nations Federation
Convention on Climate Change

(B) ' United Nations Federation Council
on Climate Change a0

(C) United Nations  Framework

Convention on Climate Change

(D) United Nations Framework

Council on Climate Change

Heh P 7 3 e w51 w1
TR ? |

AK) IWIAN  (B) TN
(C) += (D) HAleH
Nautanki is a folk dance of which among

the following states ? :
(A) Uttar Pradesh (B) Andhra Pradesh

(C) Kerala (D) Kamataka
I s @il w1 gemE
_H7 |
(A) JWwET ' (B) T ADEE
) RreRde (D) W

The - headquarters of International

Olympic Committee is at

Goa (A) USA (B) None of these |
c (D) Kerala (C) Switzerland (D) Germany - |i
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97. Wmmﬂaﬁmaﬁﬁﬁﬁ&mw@

- e =S F AT LE
gqq}'(sr.%ﬁmm_a;maﬁﬁq.wqﬁ j:m;/??
7 T % HRIA B A e wa iR ST (B)mf%aa;tﬁ‘fg‘l
2 | Grfe STET HATS! <! SMTFIT shtan @, el (C) T (D) afe ?fn
f@%ﬁ@wg%mﬁ?ﬁf B
Wgﬁ[g‘[ﬂ 0
et e e Frert | 1 e T R st e
A o e 3 e pfe @1 2 | sz 1 20 21 8
aT{T 3 -Q:ﬂ:{ H-_é, v .
mmﬁﬁgﬁm@ﬂgg fope T2 o e o s e 1 T
foren 1T FETL o v, w5 A 1 ST HTET & | &
~ W"meﬁaf" . s ST, E-g81 (D) TSR A Eﬁmﬁm |
?ﬁtﬂmﬁaﬁaﬁfﬁaﬂmﬁmﬁ?ﬁélm mﬁ%ﬁm%|mm
| 3 2q % g w1 A B T AT %A 4 Tl
4 &1 Jgnyr e ol g -TE han I, Eﬁﬁ;gm—gﬁgn:ﬁlﬁ%zﬁﬁ
e wrffes Terem &0 3, 7@ @ g 39 | 99 ~m‘“"gaam%? f
afed A AIEATE] O enfie w1 o @ 8, R
m%mwm‘éﬂwﬁmﬁ (A) WWW 1 gt
e G 1 A A T T Al aTfee @m%ﬁ"”s'
i%m%gﬁaamaﬁﬁﬁﬁbﬁm | A . ,
%lmﬁﬁﬁ:@ﬁaﬁ%W, FrTSTeRdT, PRI ¢ B ﬁmyiﬁmﬁ%m
S3 st A % guEl H AT 59 e
ﬁﬁmﬁwﬁmﬁwaw%lﬁ%’aqﬁaﬁ . <) TITEe g &l ST ST Al
i T T e, | e, e e
¥ ] W | ’ 0 [ ’ ! A
%ﬁﬂ?ﬂﬂﬁ@mww%' QI g & S ST Hha & |
g 0 v & 6 afg Afecd T A ot T D) e wam @1 o W A R,
| i fn, @ EReR T A Iau wifger g TR H 3EE,
et a1 forgsraA T TER T S S I TR, Geepf-a, gl % R,
qu i1 R i ST 373 7Y I 1 R |
W%Qﬁa' > 100. T HIet HHTST h1 GY0T =1 T2 & 7
&, : g e L
: 12 F Hifecreil i I8 ( e gR1 TA 6t fagamn
m&a '3 fo e ) R Stk Rl 0 St e < g
el | TR W G WG e & Hefeed Rl =TT 2 |
o ceeR e e ] g § | e 9 W ® mm%wﬁﬁ%
SR S e R 3 30 S | SR, G I S
' 96.'m%ﬂmﬁaﬁ'ﬁwmﬁmmw (©) AETPR Haer 9o &
- Wy 7 gl sk e W e R
%m*-mﬂ (D) i ATt TS Al Ao oiqwradt
g ¥ R ufevEE S qEen Wy
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